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QUESTION 1

You want to create a ZFS file system with the following specifications: lzjb compression enabled ? Cannot consume
more than 2 GB from the storage pool ? ?Redundant data at the block level eliminated Mounted as /data ? 

Which command creates the desired file system? 

A. zfs create o mountpoint=/data,compression=on,algorithm=lzjb,deduplication=on,quota=2g /pool1/data 

B. zfs create o mountpoint=/data compression=on algorithm=lzjb deduplication=on quota=2g /pool1/data 

C. zfs create o mountpoint=/data o compression=on o dedup=on o quota=2g /pool1/data 

D. zfs create o mountpoint=/data o compression=on o algorithm=lzjb o deduplication=on o quota=2g / pool1/data 

E. zfs create pool/data zfs set mountpoint=/data,quota=2g, dedup=on,compression=on /pool1/data 

Correct Answer: C 

 

QUESTION 2

The following command is issued: pkg set-publisher P publisher2 

What is the impact on your system? 

A. makes the specified publisher sticky 

B. makes the specified publisher the highest-ranked publisher 

C. displays information about the specified publisher 

D. moves the specified publisher one step higher in the search order 

Correct Answer: B 

 

QUESTION 3

You want to configure your IPS repository server for high network bandwidth and network availability. Which two
technologies are best suited for achieving these goals? 

A. naxbw resource control 

B. zpool disk aggregation 

C. link load balance 

D. link aggregation 

E. IP multipathing 

Correct Answer: DE 
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QUESTION 4

You are asked to configure your system to save crash dump information. While choosing a directory to save the dump
data, you consider protecting a minimum amount of free space. What is the default minimum free space in a crash
dump directory? 

A. By default, the minimum free space is 10% of the size of the dump volume. 

B. By default, no minimum free space is set. 

C. By default, the minimum free space is 1 MB. 

D. By default, the space is determined by the amount of swap space. 

E. By default, the spat e is determined by the amount of memory installed in the system. 

Correct Answer: C 

 

QUESTION 5

You and an associate named Frank administer a Solaris server. Frank will be responsible for monitoring system
resource usage, so you set up a project entry for his account. Consider the following commands and output: 

Which is Frank\\'s default project? 

A. default 

B. clockfix 

C. user.frank 

D. group.staff 

Correct Answer: B 
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